From your knowledge of the relationships among the various production functions, complete the following table:

Variable Input

Total Product

Average Product

Marginal Product

         L


  TP L* (=Q)

         AP L*

        MP L*

0


0



-


-

1


_____



_____


8

2


28



_____


_____

3


_____



18


_____

4


_____



_____


26

5


_____



20


_____

6


108



_____


_____

7


_____



_____


-10

L* means that the “L” should be a very small capital L… but I don’t know how to show that with the keyboard. 

